Regist’

2112

April 2025
Time - Three hours
(Maximum Maefgs: 100/ tions carry
. esti
[N.B. 1. Answer any fifteen questiong under part=a: S
equal marks.(15 X 2 = 3() WO sub-divisions from

2.  Answer all questions, ing any ~
each question under pqi?.o;s'ALgl questlons carry equal marks.
(5X 14 =70)(7 + 7))
(@i 1. uGdH-2| @1 &Y 2 smem 1G5l
Zﬁ]ssml_uz_mﬂéﬁ;,;;nh. e G g eNerTHSED
x 2 = 30). : ; 5 G
2 UoB-g, @ &) o SOTEE  Seresele
aSlsoLuafl&&aLD. e6uGlsum(m, mﬂﬁm"“ﬂﬁﬂ.@ggm o g@mﬂmné)&@m
o (N ERHE OO0 afm uasomd: APTS3
gu wHLGueTssT GQumun, (5 X 14 = 70 @ + 7D

PART- A / ugd-3i

3 i O &G EHHED Lo (B
i ugensThd) DG 86T Qumyid.

b &L W

1. Give the SI unitrs for acceleration and impulse-
YO&s0 LHYL 2 KsMllmesaear Sl guEsaem SHS:
2. What is meant by least count of an instrument?
@ Smallwler B&HmmeTey 6TETMTEL 6T68T60T?
3. Derive the dimensional formula for power.
QuOmessmsr uflomeT swsTur _eoL auneall.
4. What are the precautions to be taken for avoiding systematic and
random errors?
peopwrer Lo From  Noysoers  SAITILSDE (0685  Geouetipw
(TG E&F TS M &6 IWTemeu?
5. State parallelogram law of vectors.
QeusLiseafleor @Qmsmorsy aSlSlemiu H(Hs.
6. What are coplanar forces?
QM HOT NN ST ETEOTMTE) 6TEIT6DT
7. Define couple.
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State triangle taw of vect

Eh{
" k " ! A $H{
L“"U.".L et et Up‘a (:‘-. (Fa801 BLMS

State Newton's third Law.
Joh{l,n
_"-32‘!1,{( antladi (l")n.;ﬂnl‘lﬂ':“ﬁ M\‘f”’m‘ i

An object in uniform .
Calculate its angular velocity.

Fumear oy («g.m‘.,(.,\.;n_.a‘\.‘u o sirent 8¢ Gurrgyen 3 aflentingg asitlen

m\’"“:h",‘“\”)‘ N"‘":“' (:.".l‘ﬂb“ C.Jb:!\('c.llﬂ.“ll,llﬂ\(l, A (“(’nl["‘]{i.

What is centrifugal force?
soounilaud @, eflemer sTaarIE eredrent?
Define Poisson's ratio.

umie st aflellenehsmen aenmL-

What is simple harmonic motion?
staiflin ofiflsme @nlci.u-th ﬂablm"ii’ s1ed1001 ¢
State Hooke's law.

MO eNlemur mena.

Give the types of strains.

NSl eusman hsms h(meh.

What is uniform bending of beams?
lé)t,ﬂng}gﬁ.sh SnsaT eusmETR)| STENMITGY 61631601 7
State Boyle's law.

umuSlsh aflehemis g(mo.

circul@r motion completes 360°

In 31 seconds

360°-m Memmey

A person is having high fever with temperature of 101°F. What is his

body temperature in degree Celsius?

ofla smidas) Qenson@ensn muiflsdt o L Gauduflsmen 101°F steoflsu Qarsvehlusiv

oudlst a2 Ledlstr Cediuflemsy stetsar ?

what are good conductors of heat? Give two examples.

sutiy eraifleblm oL hblansit statmmsy steatenr ¢ (V60T 61(Dehen)ehenm’ (Mewsit o
" ' they ) {'\Q‘)

what is adiabatic process?

Ceutnannmit Gaehapemm srearmme srodroor ?
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Discuss the types of errors and errors propagation.

Neoy s eflsar susme s Lmmi Nenipa6im QU &6 50D umafl sleud].

Give the SI unit and dimensional formula for length, mass and
time.

Fembd, Revm wLHND EMGHsr Sl NG whmh  uflomssr  sumiumTL e
SO

Explain the construction and working of screw gauge.

Hp@omafillsr el Ly whgph oier Gausms@aid aflgn  ubd
e &HE& .

Describe an experiment to verify the Lami’'s theorem.
BT Canm&sns Camgms psuid LTSS um eeurdl.

Write a short note on (i) Concurrent force (ii) Coplanar force
(iii) Equilibrant force.

(i) pErsmuhs alsme (i) msst alleme (i) s sewfl allens — Ll
@MY TS

Two forces i and § of magnitude 7 units and 9 units, respectively,
make an angle 60° with each other. Find the magnitude of the
resultant vector and its direction with respect to the vector A.

@esar(h) aena&eT A LMHmID B sramudliy 7 SGSET LHOD 9 DEVGEET

wsmmGuw 60° RaTemTHNS ssT&SESTETm) o_(T6LIME (& E6ITMEIT. Qg (@ LiusaT
QsusLflsir stevorodliy b Hengsow A= QUTMIH S &eooTL M5
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Derive the relation betwd en lineay and anqular velocity,

: , s h@nh, @ .

A G’ (i) ¢hamar GenanghhDE “enireont - glemes Gosies. gy, o8 iyoom i (m)eot_ G en

. ¢ imen  (Bleat G es
Gl s sugym)!

Give the applications of centripetal and centrifuqal forces,.

\ ' 3 (A ‘. "
LGy e eny Lohmih sV, 0N 6mey o1, 1f ) 6y LILIGTT 6meTT gryrs e,

Explain the Newton's three laws of motion. Mention its engineering

applications.

Qudsmefus) b Bst-oflar s o9ldlaemen oilenduam,  sypen

Qumpluiliusy Lissrun@omer GO,

Explain about the stress-strain curve.,

pmaa)= Hifly eusmereme UMD 096 é @)

A metal cube of side Q.ZO m is subjected to a shear force of
4000 N. The top surface is displaced through 0.50 cm with respect
to the bottom. Calculate the shear modulus of elasticity of the

metal.

0.200 uée ojsrayster o .Gons ger sgmn 4000N Qo () allmsss,
o LURSHSULLL .  saogdlenr  Cuipuriy — opliutssoms Quimss
0.50 Qe&.U. mparssIULLE. 2 Coomragdlenr  Qaul (D L dgssmenn

&M EHHMS &euT&HE (DS,
_—

Explain the three types of modulus of elasticity.

LSS0 (& 60T SHSS60T (LRSI 6UED S EHEMET 16T Ex(G) .

State various laws of thermodynamics.

Geuliu @& s ailiuedlssr ellaemsm &hs.
Write a short note on (i) heat (ii) temperature

@laysusnra: (i) Qeudiuw (i) Geuduflemev.
Explain the three types of heat transfer.

Glauliud ureyd ewsim (psomasnst AIETEEH.



